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QUESTION 1

An ObjectServer is being configured with High Availability The primary ObjectServer, called LONDON_P, is configured
on servera The backup ObjectServer, called LONDON_B, is configured on serverb The synchronizer gateway, called
LONDON_GATE, is installed on serverb Neither of the ObjectServers is running in Secure Mode The goal is a
configuration that implements ObjectServer failover and fallback in the most efficient manner and in accordance with
standard Best Practices. Which statement correctly describes the use of the ObjectServer property called
BackupObjectServer? 

A. The value of this property on LONDON_B must be set to True. 

B. The value of this property on LONDON_P must be set to True. 

C. The value of this property on LONDON_B must be set to LONDON_P 

D. The value of this property on LONDON_P must be set to LONDON_B 

Correct Answer: A 

 

 

QUESTION 2

What is one of the first steps that the WebGUI administrator should do when creating a new page for a user? 

A. define the page wires for the different workspaces 

B. set the page location, source URL, and tools accessibility 

C. set the page properties, roles, layouts, and levels of access 

D. define the user access groups for each workspace on the page 

Correct Answer: C 

 

 

QUESTION 3

Which command creates a new dual desktop display ObjectServer with the server name as DISPLAY_OS_1 connecting
to AGG_OS_1 ObjectServer? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: C 

 

QUESTION 4

A company has a pair of primary and backup aggregation ObjectServers AGG_P and AGG_B Due to additional probe
load, two collection layer ObjectServers need to be deployed. How can the architecture be changed to multi-tiered? 

A. Additional components can be added to the multi-tiered architecture. Create two new collection ObjectServers with
twounidirectional collection to aggregation routing gateways. 

B. Additional components can be added to the multi-tiered architecture. Create two new collection ObjectServers with
twounidirectional collection to aggregation routing gateways and a bidirectional failover Collection gateway. 

C. All layers of the multi-tiered architecture must be deployed at one time. Create two new aggregation ObjectServers
witha bidirectional failover aggregation gateway. Create two new collection ObjectServers with unidirectional collection
toaggregation routing gateways. 

D. All layers of the multi-tiered architecture must be deployed at one time. Create two new aggregation ObjectServers
witha bidirectional failover aggregation gateway. Create two new collection ObjectServers with unidirectional collection
toaggregation routing gateways and a bidirectional failover collection gateway. 

Correct Answer: A 

 

 

QUESTION 5

When should the use of ObjectServer table indexes be considered for an IBM Tivoli Netcool/OMNIbus deployment? 

A. A new event field is added to the ObjectServer database alerts.status table. 

B. A one-off scan will be carried out on a non-indexed field in a small ObjectServer table. 
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C. A non-indexed field is used extensively within ObjectServer triggers,tools, or procedures. 

D. A necessary, frequent scan will be carried out on a non-indexed field in a small ObjectServer table. 

Correct Answer: C 
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